iz || Recurring Decimals to Fractions
- E,
é\

= REVISE THIS
TOPIC

1 Convert 0.5 to a fraction giving your answer in its simplest form. [2 marks]

Ox= .65 S§¢.,..
L= (0-SSSS...
2 = S

L= 2
9

Answer O\
2 Convert 0.71 to a fraction giving your answer in its simplest form.  [2 marks]

(O0x=11-7 177 v 7 |
X=0-7 17177 | ...
CH)L:_-H
x:jj_
a9

7

—_—

Answer q C\
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3 Convert 0.45 to a fraction giving your answer in its simplest form.  [2 marks]
(00x = 4 S- 4§ L’«{Q&/...
x= 0O %S 44§ .
192 = 4S
A= _ﬁ _"\ﬁ_ = _5_
91 Q9 \\

Convert O.élﬁr to a fraction giving your answer in its simplest form.  [3 marks]

1000x = 21%-21% 214 214 ...

=z O 211k 214 ..,
1992 = 214

28
Answer

424

Convert 0.’:%2& to a fraction giving your answer in its simplest form. [3 marks]

1000x = 224 - 2 4 324 22¢%...

x = O0.324 2202 .,
GAq = LY

x= 22 3Ah _Eé—:_&
Qa4 qq9 'l I?

2
Answer

T
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6 Convert 0.53 to a fraction giving your answer in its simplest form.  [3 marks]

|0Dx=5%-23 3 173
x= O0-S3 232 .

x 'Cf/O 90 S
&
Answer \ S
7 Convert 0.124 to a fraction giving your answer in its simplest form. [3 marks]

O00x:= 124 G b b 4 &
00«= 124644 & G G4

x= 0-12446&L. ..
00x =\ 12

(

e .28

x= U a0 225
10 2
Answer 9_15
8 Convert 0.4.253 to a fraction giving your answer in its simplest form. [3 marks]

000x=423- 23572 L 2 32 ..
— Dx= 4 .23%3202 V2 V2.
x= O- 623 2% 27
190 = 419
x4
110 )\

Answer ‘Q{O
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9 Convert 0.0éé to a fraction giving your answer in its simplest form.  [3 marks]
(OO0x = 38- 2 8 2 ¥ 3973 ..
- Ox= O0-3 3% 3%53..
x= O 01¢ 39 28%..
A40x= 3 28 _ 1A
=23 910 WS
Answer 'ﬁs
10 Convert 362 to a fraction giving your answer in its simplest form. [3 marks]
1001:=362 -6 T 672 67 ..
x= 3-62 b2 6 2 ...
A9 2= 359
x> 354
aa
]
Answer -ﬁ

Convert 0.3i61 to a fraction giving your answer in its simplest form. [3 marks]

(0000 =316 V6 11| \GII ...
— Ox= 2216161 161])...
x= 0-316V161V\06\ ..

QQ90x = 2\S8 2USY — 1579
- 31s8 —~aaa  4aaS
X> T30 G994 1

\
Answer -L\,ﬂ
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12 Workout 0.68—0.27 [5 marks]

Give you answer as a fraction in its simplest form.

|002=68- 38R 83 .. 100y =01-"77777 ...
I0x= 6- ¥28%8 ... Dy= L7770 ...
x=0-689%%... y=0-2111...
°l01. =6?— C{O.j-;lg
)(,'-6 ;Z$
%5 3°30
b2 _ 15 . &
q0 qO 90
13
Answer '@

13 Workout 0.53 x 0.16 [5 marks]

Give you answer as a fraction in its simplest form.

001=53-2373 221 .. |00y=(6 66 666...
I0x=S5-33 233 . Du= 166666 -
x=0-S233%3... 4y=0- 16666 ...

Gox =48 Wy = IS
= (\8 x:g 3:-E
GIO q,s 3

;ttf = 4%
Yb’\ &S

=1
6

Y

Answer L"S
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14 Workout 0.08 +3.63 [5 marks]

Give you answer as a fraction in its simplest form.

1001=8-88Q 88 ..  |00y=2%2626262...
I0x=0- ¥88%8 ... 1Dy=36-36€2636...
x=0-089¢8%... - y=3.616363...
Q0x = B ‘1°| =60
2 160
xX -
a0 3 7a

¥ 94 -
96 BOys ”50

1O i
Answer L\’so

2

3
15 Work out [0.296) [5 marks]

X

Give you answer as a fraction in its simplest form.

1000x. =296 296 296296 ...
r = 0O.2%96296296 ...

199x = 196
239

‘o—f
2 = 2X0LX 2.)( % (’
PEE ey

/

Answer cl
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